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Aufgabe 139

Gegeben sind zwei stetige Funktionen f und g sowie eine positive reelle Zahl k .

Kreuze die zutreffende(n) Aussage(n) an.

∫ ( f (x) + g(x )) dx =∫ f (x) dx +∫ g(x ) dx 

∫ f (k⋅ x) dx = k⋅∫ f (x) dx 

∫ (k + f (x)) dx = k +∫ f (x ) dx 

∫ (g (x )⋅f (x )) dx =∫ g(x ) dx⋅∫ f (x) dx 

∫ (k⋅ f (x) + g(x )) dx = k⋅∫ f (x) dx +∫ g(x) dx 
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Lösungen:

∫ ( f (x) + g(x )) dx =∫ f (x) dx +∫ g(x ) dx 

∫ f (k⋅ x) dx = k⋅∫ f (x) dx 

∫ (k + f (x)) dx = k +∫ f (x ) dx 

∫ (g (x )⋅f (x )) dx =∫ g(x ) dx⋅∫ f (x) dx 

∫ (k⋅ f (x) + g(x )) dx = k⋅∫ f (x) dx +∫ g(x) dx 
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